5 Year LL.B
Part -1

Law Related Matters

When a person speaks slanderously about God or religion, it is called

(A) Buggery
(B) Blasphemy
(C) Bestiality
(D) Bingoism

In the constitution of India education is inc: ..'~d ‘n

{A) Concurrent List
(B) Sate List

(C) Union List

(D) None of the above

Ordinances issued by ..~ Governor are subiect w the approval by

(A) State L¢ gisl~ture
(B) The rresident

(C) C~-atral Government
(D) Pari"mrat

Free legal aid foi 'n ac~usedis a

(A) Fundamc *11ight

(B) Yunu mental duty of the state

(C) Directive Principles of State Policy
M) D ~retion of the State

Terin of the Member of the Rajya Sabha is

(A) 6 years
(B) 5 years
(C) 3 years

(D) None of the above



10.

11.

Who was re-elected as a judge of the International Court of Justice in the year 2017?

(A) Nagendra Singh
(B) R.S Pathak

(C) A.K Sikri

(D) Dalveer Bhandari

The Constitution (163™) Amendment Act, 2019 relates to

(A) National Commission for Backward Classes
(B) Goods end Service Tax

(C) Economic Reservation for Forward Class s

(D) Land Boundary Agreement with Banglades.

Panchayati Raj has been introduced i1 our cc nstitution by

(A) 42" amendment
(B) 101* amendment
(C) 73" amendment
(D) 100™ amendment

The first women 7. =f Justice of a {igh Court in India was

(A) F. thima Seevi
(B> Leil. Sein

(C)  Rurna Pal

(D) Skeila Bapner). =

PIL stands for

(A) .blic ty Interest Ligitation
) Pn ace Interest Litigation
(O 1 ablic Interest Litigation
(D) People Interest Litigation

Who was the first law minister of indonendent India?

(A) B.R Ambedkar
(B) Sardar Patel

(C) Rajendra Prasad
(D) Govind Pant



12.

13.

14.

15.

16.

17.

Which of the following crimes was declared unconstitutional by the Supreme Court?

(A)
(B)
©
(D)

Enticing a married woman
Abetment of suicide
Adultery

Bigamy

Name the dissenting iudge in the Supreme Court’s decisior pern ‘ttn:g entry te ~1l wo men
to Sabarimala.

(A)
(B)
©)
()

Sheila Banerjee
Bharaamathi
Sujatha Manohar
Indu Malhotra

The Supreme Court in the case of Ixav 21 Sirgh Johar - Union or India decriminalized

(A)
(B)
©
(D)

Unnatural offences
Adultery
Bestiality
Attempt to suic, '

Which amonp the fol.owing is nita ~amed’ fundamental right under the constitution?

(A)
(®)
(G,
(D)

Rig t to _ife

Right to Speect

Rigat to Priv. oy

Right aga’. st E. nloitation

Which o1 u. > following is not a ‘constitutional post’?

(A)
3)
Q)
D)

T~ President

The Prime Minister

The Vice-President

The Deputy Prime Minister

What does the term ‘WIPQO’ stand 1.,r?

(A)
(B)
©)
(D)

World Industrial Property Organization
World Intellectual Property Organization
World Investment r:operty Organization
World Insurance Property Organization



18.

19.

20.

21.

22.

23.

The Parliament consists of

(A) the Lok Sabha and the Rajya Sabha

(B) the Lok Sabha only

(C) the Rajya Sabha only

(D) the President, Lok Sabiia and the Rajya Sabha

Who recommends the appointment of Judges of the Suprerme Cco rt of India?

(A) National yudicial Appointment Commission (NJ.A ™)
(B) Collegium

(C) Prime Minister

(D) Cabinet

The Chief Legal Advisor and the Firs law o. ficer of In‘ia is

(A) Solicitor General
(B) Advocate General
(C) Attorney General
(D) Barrister General

The obligation ~f . arty to prove a <ase i1. legal parlance is known as

(A) bovden o€ proof

(BY  duty ~furoof

(C) provability of p.o~”
(D) oklhgation ot | voof

The term ‘crecm, ayer’ is used in connection with

(A) xatioa

‘D) res.vvation
(O pollution

(D) contamination

Which among the following is not a constitutional body?

(A) Central Water Commissicn

(B) Finance Commission

(C) Election Commission

(D) Union Public Service Commission



24. The Power of the President to make law is known as

(A) Order Making Power

(B) Law Making Power

(C) Emergency Power

(D) Ordinance Making Power

25.  The first hour of every sitting of the Lok Sabha and Rajya Sabha ‘s known as

(A) Zero Hour

(B) First Hour

(C) Question Hour
(D)  Starting Hour

Reasoning Logic: | Thinking
26. Direction : Find the odd one o 1t

(A) Whale : Mammal
(B) Salamander : Insect
(C) Snake: Repti'e
(D) Frog: A:ophibian

27. Directis ~ : Fin1 the odd cae ont

(4) Gourd
(B) Raudish
(C) Spinach
(D) Beetroot

28. Direct:, 'u : F .nd the odd one out

(A)  Ctale: fresh
(B) Truth: lie

(C) Slow: sluggish
(D) Teach: learn



29.

30.

31.

32.

33.

Father is aged three times more than his son Ronit. After 8 years, he would be two and a
half times of Ronit's age. After further 8 years, how many times would he be of Ronit's
age?

(A) 2 times
(B) 2 ' times
(C) 2 %atimes
(D) 3 times

Q is as much vounger than R as he is older than T. If the s 'm ot the ages of t and 71 is 50
years, what 1s definitely the difference between R ava '« age?

(A) !year
D, 2years

{C) 25 years
(D) Data inadequate

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 655, Rs. 7230 and Rs. 6562 for 5
consecutive months. Hew 1. uch sale must he have in the sixth month so that he gets an
average sale of Rs. 65uC7

(A) 4991
(B) 599i
(C) €01
(D> 409,

The cost price o1 .70 ar. ~les is the same as the selling price of x ariicles. If the profit is
25%, then tF~ value  fx is

(A) 15
(B) .5
O 18
o 25

Look at this series: 7, 10, 8, 11, 9, 12, . VVhat number should come next?

(A) 7
(B) 10
) 12

(D) 13



34, Look at this series: 664, 332, 340, 170, , 89, ... What number should fill the blank?

(A) 85
(B) 97
(C) 109
(D) 178

35. Direction : Fill in tiie blank with correct option
SCD, TEF, UGH, , WKL

(A) CMN
(B) Uil
(Cy VI
) UT

36. Direction : Fill in the blank with correct optiop
CMM, EOO, GQQ, _ ~ KUU
(A) GRR
(B) GSS

(C) 1SS
(D) ITT

Direction: Read each definiticn 2~ ail rour choices carefully, and find the ansv-er that provides
the best exai. nle of the give. definition

37.  Erratic Bekavio: 0. ~urs when an individual acts in a manncr that lacks consistency,
regularitv  and u.iformity. Which situation below is the best example of Erratic
Behar ‘or?

(A, Jula cannot contain her anger whenever the subject of local politics is discussed

(F) DMartin has just been told that he is being laid off. Before leaving his supervisor's
office, he punches a hole in the door

(C) Rhonda has visited the dealership several times, but she still cannot decide which
car to buy

(D) In the past month, Jeffrey, whc has been a model employee for three years, has
repeatedly called in sick, for;zotten important meetings, and been verbally abusive
to colleagues



38. A Tie breaker is an additional contest or period of play designed to establish a winner
among tied contestants. Which situation beiow is the best example of a Tie breaker?

(A) At halftime, the score is tied at 28

(B) Mary and Megan have each scored three goals in the game

(C) The referee tosses a coin to decide which team will have {2ssession of the k.l
first

(D) The Sharks and thz Bears each finished with 14 points 2na *hey are now bz 'ing it
out in a five-minute overtime

39. Direction : Waich word does NOT belong with the _*hes?

(A) TUyre

(R) Steering wheel
(C) Engine

(D) Car

40.  Direction: Which word dee¢s NO.™ Scilong with the ¢ hers?

(A) Book
(B) Index
(C) Glossarv
(D) Chapter

Direction: Given b.!,w are scune statem 2nts followed by two arguments. Read carefully and
decide whi. h of the argumeats ,uon ly support the statement.

41. Statement : Sho.'d a .irong institution of ombudsman be creat=d n India?
Arguments ' “es, this will bring transparency and accountability in the
administration.
I1. No, this will develop lack of initiative anc flexibility in the
administration.

(A) Argument I is strong
(B) Argument II is strong
(C) BothI and II are strong
(D) Neither I nor II is strong



42. Statement: Should internal assessment in colleges and universities be stopped?

Arguments : [. Yes, this will elimirate the possibility of favouritism.
II. No, teachers will lose control over the students and this would

adversely affect tlieir academic growth.

(A) Argument I is strong
(B) Argument II is strong
(C) Both I and II zxe strong
(D) Neither I nor 11 is strong

43. Statement: Should students union in colleges and vu.  ~sities be banned?

Arguments : 1. Yes, it detracts students f* ~m acaa rnic and carec - development.
II. No, all great leaders h~ve v=en students vaion leaa: rs.

(A) Argumentl is strong
(B) Argument II is strong
(C) Both I and II are strong
(D) Neither I nor II is < rong

Direction: A good way to figuze out the relauc. ship in a given question is to make up a senten~e
that describes the relation<ip vetween the first tw o words. Then, try to use the same senterice 10
find out which of the answer choices cot. nlewcs the same relationship with the third werd.

44, Odoneter 1 to mileage wc comnpa: s is to
(A, speed
(B) hiking
(C) needl~

(D) directicn

45. S _~nge is ‘o porous as rubber is to

(A) massive
(B) solid

(C) elastic
(D) inflexible



46. Candid is to indirect as honest is to

(A) frank

(B) wicked
(C) truthful
(D) untruthful

Direction: Read the information. given below and answer the questions.
L. In a family of six persons, there are people from tht e gencrations. Each pe. son

has scparate profession and also each one likes o “fercut colours There ov< two
conpies in the family.

II. Cheran is a CA and his wife neither a dc. ‘or nor likes gree colour.

1. Engineer likes red colour and his wife is « . ~cher.

IV Anitha is mother in law of Kavitha ara 5.  likes orange colou -

V. Vijay is grandfather of Vivek nnd V 'vex , who is a =+ _,; al, likes black colour.

VI.  Akshaya is granddaughter of ; nitha i nd she likes blue ceiour. Akshaya’s mother
likes white colour.

47.  Who is an Engineer?

(A) Akshaya

(B) Anitha
(C) Kavitha
(D) Vijay

48.  What is the profession of Kaviths?

(A) Doctor
(B) Engineer
(C) Teacua

(D) Cuai. ot ve determined



49.

50.

51.

52.

53.

Which of the following is the correct pair of two couples?

(A) Vijay-Anitha and Cheran — Akg¢haya
(B) Anitha-Vijay and Cheran —Kavitha

(C) Cheran-Kavitha and Vivek- Akshaya
(D) Cannot be determined

How many ladies arc there in the family?

(A) Two
(B) Threc
(C) Four

(D) None of the above

Which colour is liked by CA?

(A) White
(B) Blue
(C) Black

(D) None of the above

Pointing to a l: ¥+ A said, “She - the s ster of the father of my mother’s son”, wi.o is
the lady to Rani?

(A) Mot~

(EN Aurt

(C) “ousin

(D) None of'tl ¢ aboy »

From -ay ho. se . walked 5 km towards North. I turned iigit and walked 3 km. Again I
went 1 k  te the south. How far am I from my housc”

(¢y 7km
(B 6km
(C) 4km

(D) 5km



54.

55.

56.

57.

58.

What will come in place of the question mark in the following series?
DGK GKP ? PVC

(A) GKV
(B) KPV
(C) PVZ
(D) KPU

How many such Ss are there in the following number set. s, <<l of whicn 1.
immediately nreceded by 3 or 4 but not immediatel. “ollow. d by 8 or 9?7

35954553584567357554523510

(A) 1
(B) 2
<) 3
(D) None of the above

If C=3 and CAT =24, wha. ‘s FAULT?

(A) 60
(B) 57
(C) 64
(D) 7.

Fina “e :nissing nui. ber froin the given responses.
48,82,44,77,4(, 72,

(A) 76
B) /0
) 57
o, 40

7

If a:zb=5:9 and b:c = 4:7, find a:b:c.

(A) 20:36:63
(B) 20:43:36
(C) 63:60:45
(D) 40:32:34



59.

60.

61.

62.

63.

A mixture contains alcohol and water in the ratio 4:3. If 5 litres of water is added to the
mixture, the ratio becomes 4:5. Find the quantity of alcohol in the given mixture.

(A) 20 litres
(B) 10 litres
(C) 15 litres
(D) 5 litres

The total strength ot the school was 500, the average ag~ 0. boys 's 15 and the* of y irls is
17 years. If the average age of the school is 15.5 years, the » the number of beys 1. che
school is

(A) 375
B, 355
(C) 437
(D) 245

A and B invested Rs. 25,000 each 11 a business. Afte. 2 months A withdrew Rs. 5,000.
What is the profit ratio of A "nd B?

(A) 5:6
B) 7:4
(C) 8:4
(D) 65

Janv. >ry 26, 2015 is Monday. then January 26, 2014 is

(A) Saturday

(B) Sunda
(©) Fnac’
(D) Aondcy

By 'ooking in a mirror it appears that it is 6:30 in the clock. What is the real time?

(A) 6:30
(B) 5:30
(C) 6:00

(D) 5:00



64. ‘X’ and her grandfather differs in their ages by 50 years. After 6 years, if the sum of their
ages is 152, their present ages are

(A) 24,74
(B) 26,76
(C) 45,95
(D) 25,75

65. If North-East becomes West and South-East becomes Nort, and s on, then what v ll
South-West becomes?

(A) East

(B) North-East
(C)  South-East
(D) West

BDirections : Study the following inforn ation carefully 2a! then a..swer the questions given:

P,Q,R, S, T, Uand V are sevzn | rofessors. Each cvne teaches a different subject from Physics,
Chemistry, Biology, Englis’. Mathe. aatics, Eccuu..'~ and Geography, but not necessarily in
that same order. Each of thera eacnes one day aci. on the seven days of the week from Monaay
to Sunday not necessa-ilv "~ thz order. R »aches Biology on Friday. Q teaches Mathematics on
the previous day of ihe dav on which preessu. teaches Physics. V teaches on Sunday, but does
not teach Chem. ry or English. £ te~-“es Zconomics on the previous day on whi:h U teaches.
P teaches Cieography on Tuescay. T does not teach English.

66. Whicu subject dees 't teach?

(A) Chen vy

(B) Phri-ics

(C) Biologv

(D) L taiiadequate

67.  Which subject does U teach?

(A) English

(B) Mathematics
(C) Physics

(D) Data inadequate



68.

69.

70.

71.

72.

73.

On which day does T teach?

(A) Wednesday

(B) Thursday

(C) Monday

(D) Data inadequate

On which day does U teach?

(A) Wednesday

(B) Thursdey

(C) Friday

(D)  Data inadequate

Which subject does V teach?
(A) Chemistry
(B) Physics
(C) Biology
(D) Data inadequate
Window : Panc - Z ok : ?
(A) DMNovel
(BY Glas:

(€Y Cover
(D) Page

What is once in1 . N, twice in PAPER and thrice in PEPPER
(A)
PR

©
(D)

o,

>

DEVIL : ABSFI :: OTHER : ?

(A) MRFCP
(B) RWKHU
(C) LQEBO
(D) LRECO



74. Mathew told his friend Sham, pointing to the photograph, “her father is the only son of
my mother”. The photograph is of whom?

(A) Mathew’s niece
(B) Mathew’s mother
(C) Mathew’s daughter
(D) Mathew’s sister

75. If A is the mother ot B, C is the son of A, D is the brothr ¢ E, E .s the daugl.‘er 0.”B.
Who is the grandmother of D?

(A) A
(B)
(C) C
‘D) D

FARTI
sener. Englis’

Directions : In each question, =n . *complete statenicnt followed by fillers is given. Pick out the
best one which can complet. “he inco uplete stawuie.* - orrectly and meaningfully.

76. Even if it rains 1 shall come means

(A) if !l con.= it =ill not rein

(B) if . rains I shall not cor _

(C)y I wil certainly come whetlier it rains or not
(L wheaever theee 15 rain [ shall come

77. Owing to the . ~te power shortage, the people of our locality have decided to

(A) Adisper ‘e with other non-conventional energy souices

(B) s\ itck-off the electrical appliance while not iz uze
, exriore other avenues for utilising the excess power

(L) resort to use of electricity only when it is inevitable

78.  Even though it is a very large house,

(A) there is a lot of space avaiiavle in it for children
(B) there is hardly any space available for children
(C) there is no dearth of space for children

(D) the servants take a long time to clean it



79.

80.

81.

82.

83.

In order to raise company's profit, the employees

(A) demanded two additional incremerits

(B) decided to go on paid holidays

(C) requested the management to implement new welfare schemes
(D) offered to work overtinie without any compensation

Unless you work haid vou will fail, means

(A) if you do ot put more efforts, you will fail

(B) ifyou tail you will work hard

(C) you must at least plan well than you will ot 1ol
(D) 1t you only work and work alone, you wil' 1. 1l

Direction: Fill in the blanks with the most a; propriate vvords frori the options given
During the recession many com ranies will--------- --- lay ~ff workers.

(A) be forced to

(B) have the force to
(C) forcefully

(D) be forced into

Directis ~: Fill [n the blank s with th * most appropriate words from the options g.ven
Wt 2n the examination: w~ > 07 er-------- went to Germany.

(A) meand G.-esh
(B) Tand Ganesh
(C) Ganesy a..* me
(D) Ganchandl

Direcw. u: Fill in the blanks with the most appropiiate words from the options given

We ------- our work before the guests arrived at our house.

(A) shall finish

(B) have finished

(C) had finished

(D) shall have finished



84.

85.

Direction: Fill in the blanks with the most appropriate words from the options given
The reward was not commensurate--------the work done by us.

(A) for
(B) on
(C) with
(D) order

Direction: Fil! 11, the blanks with the most appropriate \v »ras “om the oruo.'s z'vea
Your treatrient of your servant is-------- mean.

(A) golden

{B) nobly

(C) flexibly
(D) notoriously

Direction: Rearrange the follow: ‘g five sentences i*« proper s..quence so as to form a meaningful
paragraph, then answer the ouestion. given belov

86.

87.

1. After Examiring hiii, the doctor smilc ! av him mischievously and took out a syringe.
2. Thinking thet » . ras really sick, "is fatl.er summoned the family doctor.

3. That day, Mint1 wanted to takc 2 aa, off from school

4. Immed*ately, Mintu jumned »» fi. m his bed and swore that he was fine

5. Therefor.: ke pretended to be s.ck and remained in bed.

Whic™ ceatence shou'd come third in the paragraph?

(A)
(B)
©)
(D)

LN =

Wh.ch sentence should come last in the paragranh?

A) 1
(B) 2
) 3

(D) 4



88.

89.

90.

91.

92.

Which sentence should come fourth in the paragraph?

A) 1
B) 2
© 3
(D) 4

Which sentence should come first in the paragraph?

(A)
(B)
©)
D)

W N =

£

Which sentence should come second n the | aragraph?

(A)
(B)
©
(D)

WD W N =

Direction: Find cut correct alte. nau. ¢
The aver ti wo---—---- the briage.

(A) below
(B) under
(C) into
(D) to

L. ~ction. ¢'ind out correct preposition.
The President of India is vested ----------- execntive powers.

(A) with
(B) of
(C) from
(D) in



93. Direction: Find out correct preposition.
The court is not concerned------------- the political status of the accused.
(A) with
(B) from

(C) in
(D) for

94. Direction: Fill 12 the blank with correct option

Ashok and Anand had tea and ----------- went for a n.ovie
(A) then
(B) since
(C) after

(D) thereafter

95. Direction: Fill in the b). nk with correct eotion

The quality of -------- - between individvals aud the organization in which they work
can be------ to the bencrit of both the par. =s.

(A) work, prowed

(B) L.~ devclopment
(CY mter ~tion, imprsved
(C) job, evaluation

Direction: Read the pas.. 7e a. 1 answer the questions below.

Speech is 2 gi=ar clessing but it can also be a great curse, for while it helps us to make
our intention: and ¢ >sizes known to our fellows, it can also ir we use it carelessly, make our
attitude comple. ly misunderstood. A slip of the tongue, tiic use of an unusual word, or of an
ambiguous v. =4, and so on, may create an enemy wheic we had hoped to win a friend. Again,
different ciasses of people use different vocabularies. and the ordinary speech of an educated
may strike an uneducated listener as pompous. Unwiitingly, we may use a word which bears a
different meaning to our listener from what it do<: to men of our own class. Thus speech is not a
gift to use lightly without thought, but one which demands careful handling. Only a fool will
express himself alike to all kinds and conditions of men.

96. The best way to i a friend is to avoid



(A) irony in speech

(B) pomposity in speech
(C) verbosity in speech
(D) ambiguity in speech

97. While talking to an uneducated person, we should use

(A) ordinary speech
(B) his vocabuilary
(C) simple words
(D) polite language

98. If oie used the same style of language with 2v.~vong, one weld so. nd

(A) flat

(B) boring

(C) foolish

(D) democratic

99. A ''slip of the tongue' mc. »s something said

(A) wrongly b _hoi.e

(B) unintestionally

(C) w.*hout giving propcr thongh
(D) to hu * =nother pcison



100. Speech can be a curse, because it can

(A) hurt others

(B) lead to carelessness

(C) create misunderstanding
(D) reveal our intentions

101. The word ‘utopia’ nmieans

(A) asurgicai procedure

(B) a state (f society with utmost perfection
(C) atype of mollusks

(D) aplace in Europe

102.  The word ‘exculpate’ means

(A) declare someone not guil y

(B) declare someone gui'ty

(C) something painfu!

(D) express hatred agains. someone

103. The term ‘avic I+ __’ refers to bree 'ing ot

(A) Gy 78
(BY 1ishe-
(C)  bircs
(D) ocats

104. The term ‘agcrap. Hbia’ refers to fear of

(A) . ~ight
) ope T spaces
(CY L.sects
(D) ghosts

105. Name the antonym for the word ‘acrinony’

(A) truthfulness
(B) hostility
(C) jealousy
(D) benevolence



106. Select the antonym for the word ‘absolve’.

(A) accuse
(B) pardon
(C) anger
(D) applaud

b

107.  Find the suitable antotiym for the word ‘contempt’.

(A) disrespect
(B) joviai

(C) respect
(D) ritate

108.  The idiom ‘let sleeping dogs lie’ mea 's

(A) It’stoo late

(B) 1It’s not complicated

(C) Tell something bric ly
(D) Stop discussing an iss ‘e

109. Choose the coie~” _~eliing.
(A) ¢ mission
(B> omicriory
(C)  omision
(D) omession
110. Please.............. the decision of the Supreme Court.

(A) icht
i

) sea.
(C\ v.e
(D) site

111.  The judge asked him to state the ..... ........ of the matter.
(A) just
(B) gist
(C) jest

(D) jist



112.

113.

114.

115.

116.

117.

Due to the lack of evidence, the Court ............... him.

(A) convicted
(B) acquitted

(C) convinced
(D) sentenced

The Speaker adjourned the house ...................

(A) cine dy=
(B) sindi=
(C) sine die
(D) <me dies

Rahim left .................. Singapore 7esterc iy.

(A) to
(B) in
(C) at
(D) for

One who does "o* . ake amistake .~ ...... ...........

(A) 1u.elligible

(B> 1infa, bl

(C)  unirtelligible

(D) ircomprehens hle

The killine o1 the “ather is known as

(A) .-atric de
) pauicide
(CY 1 atricide
(D) femicide

A government by religious law is

(A) cryptocracy
(B) papyrocracy
(C) 1idiocracy
(D) theocracy



118.

119.

120.

121.

122.

123.

The science of teaching is known as

(A) demagogy
(B) pedagogy
(C) mystagogy
(D) anagogy

To induce another to commit a crime

(A) conspire
(B) collude

(C) abet
(D) abate
Justice HR Khanna’s landmark ....... . opin. on in the Fabeas Co pus case is noteworthy.

(A) descenting
(B) disenting

(C) discenting
(D) dissenting

The Minister .. .. ......... the mu 1al wi ners.

(A) fa-ilitated
(BY  1elic tated
(CV  facsimiled
(D) fecilitated

The Defence . .... ............. cross-examined the witness.

(A) \<Jouns:l
™ Coumsil
(Y Council
(D) Councel

The contract established a relationship ot .................... and agent between the parties.

(A) principal
(B) principle
(C) master
(D) servant



124. The word ‘conundrum’ refer to a

(A) challenge
(B) conical drum
(C) easy task
(D) tantrum

125. A person who tries to win favour by flattery

(A) charlatan
(B) sycophent
(C) simpleton
(D)  burfoon

General Knowlzag. ‘Current Affaiis

124.  The southernmost point of peninsular 1. dia; that is, Ka. vaxumari, lies in

(A) North of Tropic of Cancer
(B) South of the Equaic ~

(C) South of the Capricor.
(D) North of the Eque ~r

127.  Jnanpith Samman fo: the year 20. 8 av wrded to

(A ML.F.Virendra Kiaar
(EY M.T Vasudevar. N-
(C) ONWYVKurup

(D) Amitav G sh

128. The oriy pni ate sector refinery set up by Reliance Petretecm: Ltd. is located at

) Gu ahati
(13» . .mnagar
(C)  Mumbai
(D) Chennai

129.  Three important rivers of the Indian subcontinent have their sources near the Mansarover
Lake in the Great Himalayas. These rivers are

(A) Indus, Jhelum anc Suilej

(B) Brahmaputra, Srtlej and Yamuna
(C) Brahmaputra, indus and Sutlej
(D) Jhelum, Sutlej and Yamuna



130.

131.

133.

134.

135.

Which country is to host 2021 ICC Champions Trophy and 2023 World Cup in cricket?

(A) Pakistan

(B) Iran
(C) South Africa
(D) India

The International Dav of Zero Tolerance for Female Genitei Mu. laticn is observed o.
which date?

(A) February 5
(B) February 6
(C) Y¥ebruary 7
(D) February 8

Which of the following option is correc. vezarding Prach=n Mantri Jeevan Jyoti Beema
Yojana?

(A) Itis aone year life , surance scheme

(B) Itis available ‘= the ag group of " C 1~ S years

(C) Itis renewable froun. year to yea:
(D) All of tke above

The heaa narters of UNHCR * Iacaced at

(AN Nev York

(B) TRome
(C) London
(D) Genc o

Which ¢ " the following is associated with Marx’s eccnoinics?

(¢ ) '"rneories of Surplus Value

(B Essay on the Principle of Population

(C) On the principles of Political Ecorcmy and Taxation
(D) Okishio’s theorem

The Voluntary Disclosure of Incoine Scheme (VDIS) was the brain child of

(A) P.Chidambaram
(B) Arun Jaitley

(C) A.B. Vajpay=e
(D) Narendra Modi



136. The world’s largest nuclear power station is in

(A) Chernobyl

(B) Kashiwazki-kariwa
(C) Fukushima — Daiichi
(D) Kalpakkam

137.  Anti-snake venom is nrepared by

(A) Pasteur Inctitute (France)

(B) Birla Science Centre (New Delhi)
(C) Haffkine Institute (Mumbai)

(D) indian Science Institute (Bengaluru)

138.  “Courts and Their Judgements’ was w ritten L y

(A) Arun Shourie

(B) Mahatma Gandhi
(C) Aurobindo Ghose
(D) R. K. Narayanan

139.  In which citv tre ' __dguarters of Z ological Survey of India is situated?

(A) D rlhi

(B Thn.vasanthapviem
(C) Koi*ata

(D) Guwahati

140. Union governme.. has decided to observe which day as Anti-rmergency Day?

(A) .3-24 une
Y 24-75 June
Oy 23-26 June
(D) 26-27 June



141.

142.

143.

144.

145.

Who has launched mobile app recently named “Selfie with Daughter”?

(A) Narendra Modi
(B) Pranab Mukherjee
(C) Sushma Swaraj
(D) Hamid Ansari

US President Donald Trump recently withdrew which agrecmen.”

(A) Scotland Climate agreement
(B) London Climate agreement
(C) Canada Climate agreement
(D) Paris Climate agreement

Which Indian player has been named 1s the . ”C Wome: 5 Crickecer of the Year 20187

(A) Julan Goswami
(B) Mithali Raj

(C) Harmanpreet Kav:
(D) Smriti Mandhana

What is the pe.~e~ .. 7e of reservatic 1 approved recently by the Union Cabinet for
‘economically backvvard’ uprer c. ~tes in government jobs?

(A 5%
(E\ 10%
C) 5%
(D) 6%

The P-rsona. Laws (Amendment) Bill, 2018 has striked-out which disease as a ground
for seek. g a divorce?

(¢ HIV
(B. Leprosy
(C) Asthma

(D) Cancer



146.

147.

149.

150.

The world’s first human rights TV channel has been launched in which of the following
cities?

(A) Berlin

(B) Paris

(C) New York
(D) London

Who has won the women’s singles 2019 Australian Opra i »nnis ".'ournament ’

(A) Petra Kvitova
(B) Marta Sharapova
(C) Naomi Osaka
(D) Simona Halep

Who has become the Pakistan’s first Hi. 42 woman jua e?

(A) Gita Mehta

(B) Smita Kolhe

(C) Suman Kumari
(D) Draupadi Ghirair-.,

Which Indian film bas been 2-warc >d wicth 91 Oscar in the documentary short subject
categery:

(AN Hov, far can vou _u It your art?
(B) Iu Defensr of reedoin

(C) The Schocl Rag

(D) Perio... Endlo Sentence

Who has taken charge as the first Chief Justice of Telanigana High Court?

(¢ 3 ' B Radhakrishnan
(B Chagari Praveen Kumar

(C) Sarasa Venkatanarayana Bhatti
(D) Akula Venkata Sesha Sai
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